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HIH : 20214E4 H18H (H) S 5727 R— L% 7 —/1 (50m)

No. 10 Z+ 50m BHF B A LL—RREE 4k 35.96

LK ATIL—T >

BfL. K 4 i B 2E KK =
1 HH Foak TANT A N2 1/ 4 45.73 A5tk
2 Wl TE T AT 4 A4 B 1/ 5 51.80
3 )il R HHFSC /N2 1/ 3 54.38
4 HLEH  HEM TANRT A N2 1/ 6 57.02
5 ZRfTFmeT TZANRT oA 2 1/ 2 1:01.24

No. 12 Z¥ 50m BHF A LL—R R R 32.69

L BGIL—T >

BESL. K 4 ir B 2E KK =
1 gk e TANRT 4 A M 2/ 4 35. 42 8k
2 KIS A 243 KSCTH 7N 2/ 5 36.03 8k
3 EMJHEp KSCTH /N3 2/ 3 38.23 9%
4 hE =] BBy ! 2/ 6 40. 14 55
5 MDEEF KSCgERJII /3 1/ 4 41. 62 Tk
6 B . fE3F T 2T oA /3 1/ 5 41. 65 THE%
TR EZE TANRT 44 NS 1/ 6 42.54 3%
8 Wi R T 2T oA /N3 2/ 2 42.63 3%
9 MR IKH BkED /N4 2/ 7 43.79 3%
10 K5 ek TANRT 4 A /M 1/ 3 48. 39
11 HJR ZEF J—XAC /N3 1/ 2 50.01 *F# 25
12 BHES  0h3E TANRT A M 1/ 7 51.62 *TF&h

No. 14 ZF 50m BEF B A L L—R R S 20.47

L CINL—7 >

B K 4 ir B 2E KK =
1 B ME KSC#7FX /)6 5/ 4 31. 81 %
2 BA it KSCTH NG 5/ 3 33.74 TH%
3IIHE AL J—ZXAC /NG 4/ 7 33.87 8k
4 ARk KSCTH NG 4/ 6 33.96 6%
5 rh Ak BEBED /NG 5/ 7 34.00 6%
6 “FEF (T KSCTH /NG 5/ 2 34.17 Sk
TR AIE KSC#F~ /)6 4/ 4 34. 86 6%
8 i B J—xAC NG 4/ 1 35.12 6%
8 JIllE  HhzE T 2T 4 A /b 5/ 6 35.12 TH%
10 #K E LS T AT 4 A /)b 4/ 2 35.16 Tk
11 JEK e KSCERJI /6 5/ 5 35.25 5%
12 3k BE BkED NG 5/ 1 35.48 5%
IRE V| BBy /N5 4/ 3 35.76 6%
14 &R Figp KS C#ERJII /b 4/ 5 35.77 67%
15 [ A% KSCERJII /6 3/ 5 36. 10 5k
16 K  Hib BRBLY NG 3/ 1 36. 11 55
17 I B+ BkEy NG 2/ 6 37. 41 4%
18 JHA ERk=E J—=XAC NG 3/ 6 37.94 25%
19 [if] < L HEF S C /N6 2/ 3 38.14 3%
20 AMGL AR KSCERJII /)6 3/ 4 38.15 3tk
21 JR T J—ZXAC /N5 1/ 5 38.33 45%
22 VI BB KS C#E=RJII /b 3/ 7 38.58 4%
23 FEA  FKmE KSCgER)II /6 3/ 3 39.08 25k
24 &R B HWEFEFSC /N5 2/ 5 39.99 3tk
25 JEAKEMNE KSCERJII /5 3/ 2 40. 68 3%
26 FEH &g KSCERJII /)5 2/ 2 40. 88 3%

HAOBRME: 4H18H 11:02
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HIH : 20214E4 H18H (H) S 5727 R— L% 7 —/1 (50m)
No. 14 Z+ 50m BH# BALL—R R AR 29. 41
L CHIL—TF >
BfL. K 4 i B 2E KE =

27 R EHiE TANRT 4 A /N6 1/ 4 41.98

28 jEH =] J—ZXAC /NG 1/ 6 45. 06

29 Ty A KO JAK /NG 1/ 2 46. 16

30 VH A A i J—ZXAC /N5 1/ 3 47. 61
No. 16 ZF 50m EImf B A L L— R R KRB 2.3
LK DINL—T >
IBfL. KK 4 i B 2E KE i

1 B KSCTH 13 4/ 4 28.03 9%

2 ek BEE TANRT A H2 4/ 1 29. 17 itk

3 KR HE KSCTH 12 4/ 6 29. 46 8k

4 Y B A KSC#+~ 3 4/ 5 30.39 Tk

51 PE T AT 44 il 4/ 2 30. 42 8k

6 JIlo EEE T AT A 13 4/ 3 30.57 %

7T FHEARETY T AT A4 H3 3/ 5 31.13 61k

8 Kl fF3¢ KSCTH M1 3/ 3 31.20 8k

8 iy JeiE J—XAC 3 3/ 4 31.20 6%

10 #HHAT J—XAC H12 3/ 6 32.06 6%

11 [N A+ TRANRT 44 il 3/ 7 32.13 Tk

12 PHEEH % J—ZXAC 12 2/ 4 32.42 6%

13 HiA 3R T 2ANRNT 4 A 2 2/ 2 33.09 55%

14 PKH  Bi3E J—ZAC H12 3/ 1 33.12 5#%

15 Bl A KS CERJII 13 1/ 4 33. 14 4%

16 # F fE=E KSCTH H2 3/ 2 33.42 5k

17 A B BkLD Ml 2/ 6 33.77 6%

18 #k AE A T2ANT 4 A4 Hl 2/ 3 33. 81 6#%

18 /K E O KSCE=RI 3 2/ 5 33. 81 43t

20 MR SRS TANT 44 H1 2/ 1 34. 41 5%

21 A1l #Fife KSCTH 13 1/ 5 35.03 2

22 YR IEE BBLY 1 1/ 3 35.23 45

23 dbm a2 BEED 12 1/ 6 37.06 25%

24 WREPIAE J—XAC 1 1/ 2 39. 81
No. 18 Z+ 50m BH# BA L L—RRE PNl 27.90
L CSHTIL—TF >
Bf. KK 4 B 2E KB i

I/ ) KSCTH =2 1/ 5 28.75 Stk

2 [H EZ & & KSCTH =2 1/ 6 30. 36 Tk

3 HH ia KSCTH =a 1/ 3 31.28 6%

4 G B BEb =3 1/ 2 31.54 5k

5 kRS AnZE KSCERI &2 1/ 7 32.88 4%

HAOBRME: 4H18H 11:02



